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Q4 A coach, manager and six players sit around a cfreular table to discuss tactics.
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Q5 It ZNQP = 8 inthe diagram below, which of the following could be true?

M n

(&) ¢ =m+nt+2mncos f

(C) m'=g’+n —2gncosf
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gr=m’ - —2mncos §

.m __ 4
sin/N¥MQ cosp

» .

Question 6 (Start a new page- 20 marks)

a. If A7 =3, find the value of 4% 5. i

b. A is a point (~2-1) and B is the point (1,5). Find the coordinates of the point Q
which divides AB externally in the ratic 5:2. 2

1 I 9

7-pg pg—q*

c. Simplify completely

d. Find the number of ways in which the letters of the word EPSILON
can be arranged in a straight line so that the three vowels are all next
to each other,

€. Solve for x: 3cosx=secx+2  inthe domain 0° <x<360° giving your
solutions to the nearest minute
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i In the diagram A,B and C have coordinates (1,5), (7,-4) and (-2,/)
respectively. D is in the 2™ quadrant and C is in the 3™ quadrant.
ABCD is a parallelogram. '

4 NOT TO SCALB

AL, 5)

B 01"4)

C (~2,k)

(1) Find the gradient of 4B.
(ii}  Show that the equation of 4B is 3x+2y-13=0.

_(111)) ‘Write down an expression, in terms of £, for the perpendicular distance
© from C tothe line 4B,

. (iv) Find the length of interval 4B in exact form
{v}  Given that the area of 4BCD is 90 square units, find the value of .

(vi) Determine the coordinate of D.

e Sketch the graph of y =|2x[+x-1
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Question 7 (Start a new page — 18 marks)

a. Find the exact value of x, ) 3

150° 7

1o

b. From a group of 7 girls and 6 boys, 3 girls and 2 boys are chosen.

How many different groups of 5 are possible? 2
c. A Mathematics department consists of 5 female and § male teachers.

How many committees of 3 teachers can be chosen which contaixn at least one

female and at [east one male? 2

d. The number line graph represents the solution to the inequality [x—a]<b

- Y Sy .. NOTTOSCALR

6 12

Find the value of & and 5. 2
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€. i, Find the vertical and horizontal asymptotes of the function y= -l

x+3
and hence sketch the graph of y = 2
x+3
ii. Hence, or otherwise, find the values of x for which Y;; =2,
X
. x—1
iii. Skeich y= }—I
x+3
f
y A 2

\ A{cosd, sing)

<\

B{cos8, —sing)

=)
v

F

A\ J

A{cosd,sinf) and B(cosb,~sinf} , 0 < 0 < 90", are two
points on the circle with centre O(O, 0) and radins 1 unit.

Use the cosine rule in A4AOR to show that:

cos2@=1—2sin’ 8@

END QF ASSESSMENT TASK.
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